

FORM 4
CEMISTRY PAPER 233/3
MARKINGSCHEMESH
	Titration number
	I
	II
	III

	Final burette reading (cm3)
	22.5
	44.8
	22.3

	 Initial burette reading (cm3)
	0.0
	0.0
	0.0

	Titre (C1) cm3
	22.5
	22.3
	22.3


a) = 22.5 + 22.3 +22.3
              3
= 22.3666

=22.4 cm3

b) Concentration
=
4.9
98





=5.0 x 10-2 mol dm-3

c) The number of moles of solution C1 used

= 
22.0 cm3 x 5.0 x 10-2 moldm-3


1000

=
1.12 x 10-3 moles
d) Reacting mole ratio NaOH : H2SO4
= 2:1

Moles of NaOH present in 25 cm3
= 1.12 x 10-3 x 2






  2.4 x 10-3 moles







= 2.24 moles
e) Concentration 
= 
2.24 x 10-3 x 1000
25





=
8.96 x 10-2 mol dm-3

Volume of pipette used = 25 cm3
	Titration number
	I
	II
	III

	Final burette reading (cm3)
	12.7
	25.3
	37.9

	 Initial burette reading (cm3)
	0.0
	12.7
	25.3

	Titre
	12.7
	12.6
	12.6


a) =
12.7 + 12.6 + 12.6
4


     = 
12.6333


     = 
12.6 cm3
b) Moles =
Concentration x Volume
1000




     =
8.96 x 10-2 x 25




1000



   = 
2.24 x 10-3 moles
c) Reacting mole ratio NaOH : HCl = 1:1

Moles of acid in12.6 cm3 = 2.24 x 10-3 moles
d) =
2.24 x 10-3 x 100
12.6

      = 
1.777 x 10-2 moles
e) 1.777 x 10-2 moles were present in 10 cm3 of original HCl
Concentration of original HCl = 
1.777 x 10-2 x 1000
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       = 
1.77 mol dm-3
2.  
	
	Observations
	Inferences 

	 a) 


	It dissolves in water;
	Presence of a soluble salt;


	b)
	White precipitate that does not dissolve in excess;
	Presence of Pb2+;, Al2+;, Mg2+;
ions

	c) 
	White precipitate;
	Presence of SO4;, SO3; anions;


	d) 
	The white precipitate does not dissolve;
	Presence of SO4anions;

	e)
	It dissolves in water;

	Presence of a soluble salt;

	f)
	White precipitate formed which dissolves in excess;
	Presence of Zn2+;


	g)
	White precipitate
	Presence of CO32-; Cl-;





h)        M – Lead (II) sulphate;


E – Zinc Chloride;
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